2.0 As species reproduce, characteristics are passed from parents to offspring

2.1 :  A Closer Look at Variation
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Variation is one of the most critical aspects of species survival. This variation may not always be as easy to find as color usually is, because it may be a behavioral tendency or a genetic (cellular code) modification that enables some individuals within a species to survive, while others, of the same species, will perish.
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· Heritable characteristics:  _________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________

· Non-heritable characteristics:  ______________________________________________________
___________________________________________________________________________________

___________________________________________________________________________________

· Variations can be either discrete or continuous.  

i)  Discrete variations are differences in characteristics that have a defined form.  You can think of a discrete variation as being the “either/or” form of a characteristic.  For example, a mouse can either be albino or not. 

ii)  Continuous variations are differences in characteristics that have a range of forms.  They are not one form or another.  For example, the colour of hair in humans.

· Some variations in individual organisms result from interactions with the environment.  Variations caused by interactions with the environment are not heritable.

1)  Give 2 examples of heritable characteristics:  ____________________________________________

2)  Give 2 examples of non-heritable characteristics:  ________________________________________

3)  Give 2 examples of discrete variations:  ________________________________________________

4)  Give 2 examples of continuous variations:  ______________________________________________

2.2:  Asexual and Sexual Reproduction

· The way a species reproduces determines how much variation the new individuals will have.  Reproduction can produce new individuals that are identical to or individuals that are very different from one another.

· Asexual reproduction involves only one parent.  All the offspring that result from asexual reproduction are identical to that parent.  There are several different forms of asexual reproduction, such as binary fission, budding, spore production, and vegetative reproduction.

i)  Binary Fission: _______________________________________________________
__________________________________________________________________________
__________________________________________________________________________

ii)  Budding:  _______________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

iii) Spores: ____________________________________________________________
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_________________________________________________________________________________

iv) Vegetative reproduction ______________________________________________

__________________________________________________________________________________

__________________________________________________________________________

Sexual Reproduction:

· Sexual reproduction:  reproduction involving the ________________________ of genetic material between ____________ individuals resulting in offspring that are ___________________________ different from the parents.  Sexual reproduction does not always involve male and female parents, but can have specialized ________________________ (reproductive cells that have only one role - to join with another gamete during reproduction).
· A ________________________ is a cell that has one role only, which is to join with another gamete during reproduction.  Sexual reproduction in animals involves specialized cells called gametes.
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Sperms cells:  __________________________________________
_________________________________________________________
· Egg cells (ova):  ________________________________________
_________________________________________________________
· Fertilization:___________________________________________
___________________________________________________________________________________
· Zygote:  ________________________________________________________________________
· Cleavage:  _______________________________________________________________________
· Embryo:  _______________________________________________________________________
___________________________________________________________________________________
· As in animals, sexual reproduction in plants requires the joining of a ______________ gamete with a _____________________ gamete to produce a zygote and an embryo.  

· Most plants produce both male and female gametes.  However, some produce only female gametes and others only male.

Describe what is going on in each picture.  P. 32
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Sexual Reproduction in Plants

Below define the following terms

Pollen__________________________________________________________________________________________________________________________________________

Stamen__________________________________________________________________________________________________________________________________________

Ovules__________________________________________________________________________________________________________________________________________

Pistil ___________________________________________________________________

________________________________________________________________________

Anther _________________________________________________________________

________________________________________________________________________

Stigma _________________________________________________________________

_______________________________________________________________________

Stigma_________________________________________________________________________________________________________________________________________

Style ___________________________________________________________________

________________________________________________________________________

Ovary __________________________________________________________________

_______________________________________________________________________

Label the flower below.


What is the difference between Cross Pollination and Cross Fertilization?

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Below List the advantages and disadvantages of Asexual Reproduction

	Advantages
	Disadvantages

	
	


Below list the advantages and disadvantages of Sexual Reproduction

	Advantages
	Disadvantages

	
	



Describe, using examples, of organisms that produce both Asexually and Sexually.

































Beginning stages of an organism
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